MTH 277, Final Exam, Spring 2018 Name

KEY

Instructions: Show all work. Give exact answers unless specifically asked to round. All complex
numbers should be stated in standard form, and all complex fractions should be simplified. If you do not
show work, problems will be graded as “all or nothing” for the answer only; partial credit will not be

possible and any credit awarded for the work will not be available.

1. Find Z—b:for w =|xy® + x°z + yz%,x = t%,y = 2%,z = Int Using the chain rule. Be sure your

final answer contains only t. (12 points)
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2. Find the three first implicit partial derivatives for x*y + y? +z% cosw — 5yw + 10w? = 2. (15 points)
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3. Sketch the gradjent field for z = —3x2 — 2y? + 3x — 4y + 5 and use it to characterize any
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4. Use the second Tartials test to find any characterize any criti¢al points for z = —5x2 + 4xy —
y* + 16x + 10. (12 points)
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6. Find the volume of the region below f(x,y) = 1:;3;3]2 for the region bounded by xy = 1,xy =
2,x =1,x = 4. (18 points)
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7. Find the position vector for d(t) = eti — 8k, $(0) = 2{ + 3]+ k,#(0) = 0. (15 points)
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11. Find the equatic
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15. Find the limit
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19. Evaluate the line integral fc 2xyzds on the path 7(t) = tii— 5tf + 3tk on [0,1]. (12 points)

P
CEOF 9 Se3lk
WU = a4 = 56

| a0 Ge ar

»

‘ (
3 Egg L3
3o 0 = P ol

M = 20§25 kt}l' _ MSS’ES

—




